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Part A

Answer all guestions from this part.
Each binch of four questions corries o weight of L

Choose the correct answer from the following :

1. What is the greatest asset ol's bore 7
fa) Hissimplieity. {b) His busy way of life.
{c) His craftiness. (d) His sense of humour.

2. According to Nehru, the only way to make amends for our lapse is:
ta) To ery and mourn Gandhi's death.
(b} To pledge ourselves anew and dedicate to the great task he undertook.
e} To ;hank him for the great work he undertonk.
(d) Torootoutthe evil in society.

3. Women's voice in contemporary Indian Public life can be strengthened by ¢
(a) Alleviation of economic poverty.
ib) Broadening the social cwert;:ge that 15 now confined to the urban chte.
(e} Removing disparities in public life.
(d} Inecreasing the politicization of issues,

4. The only way of dealing with general human conceit, according to Russell; is :
tu) By eoncealing self-osteom. ;
{b) Being rational in one's thoughts,
(c) By creating a belief in something enmforting.
(d) Accepting that man is only a brief episode an this planet.

5. Why does Malouf see a deity in the bicyele ?
ta) The bicyele putmatehes man in efficiency and performance,
{(b) The shape reminds the .pnet of a deity. .
(e} Man gives too much importance tn machines:
(d) The bicycle has the appearance of a deity. P Svar
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. 13. Why did the students call the Physics master a cannibal ? :
(a) He fell flat in aisle. (b} He was always chewing his thumbs.
(¢} He had a sad look. (d) He had whiskers.
14. What does the playwright intend to do through the play “Lord Byron's Love Latter” 7
(a) Make fun of the gullible public patronizing the art forms.
(b} Make fun of the old woman and the spinster.
fe} Prove that Byron was a romantic persen.
id) Attempt to show that people are passionately interested in the past.
15. Why did Sampson say “he is not in pain” 7
(a} Herbert had taken pain Killers,
{(b) Herbert was dead.
{c) Sampson did not know what happened to Herbert,
{d) He was telling a lie.
16. Where, according to Irenee Marguerite, did Lord Byron meet her for the first, time ?

(a) In Italy. {b) On the steps of the Acropolis in Athens.
(e} Near the Hellespont. (d} Al the Mardi Gras.
(4 %1 =4)
Part B

Answer five of the following questions in a sentence or fwo,
Bach question earries a weight of 1

17. What are the benefits of *Liberalization”, according to Amartva Sen 7
18. What was the mistake Aristotle made, according to Russell ?
19. Why does Nehru feel ashamed as the head of the Government of India ?
20. What is the gap that the poet refers to in “Mending Wall" ?
21. Why doea the poet say in “Poor Girl" that the lover is breaking anether heart ?
22. "Was it a vision, or a waking dream” ? Why does Keats feel ao ?
23. How did Ivan and Masha react when they realized that thoy did not netually win the
Iottery ? . :
24.. Why does Jimmy change his mind about robbing the bank at Elmore 7
(8 % }=15)
Part C

Answer four of the following questions in aboud 100 words.
FEach question carries o weight of 2

26. How did Mr. White's first vish come true 7
26. What did Varma confide in hig friend Bhatis in “A Devoted Son” 7
27. Why does Shakespeare say that he has to *now pay a= if not paid before™ ¥ Turn over






